

JOC MUSIMATEMÀTIC 1

$$\text{♩} + \text{♩} + \text{♩} + \text{♩} = \square$$

$$\text{♩} + \text{♩} + \text{♩} - \text{♩} = \square$$

$$\text{♩} + \text{♩} + \text{♩} + \text{♩} = \square$$

$$\text{♩} + \text{♩} - \text{♩} + \text{♩} = \square$$

$$\text{♩} - \text{♩} + \text{♩} + \text{♩} = \square$$

$$\text{♩} + \text{♩} + \text{♩} + \text{♩} = \square$$

$$\text{♩} + \text{♩} + \text{♩} - \text{♩} = \square$$

$$\text{♩} - \text{♩} - \text{♩} + \text{♩} = \square$$

$$\text{♩} + \text{♩} - \text{♩} - \text{♩} = \square$$

$$\text{♩} + \text{♩} + \text{♩} = \square$$